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Demand
vs the various amounts of a product that consimers are willing and 7
a ) « 0

Detnand is a4 schedule or a curve that shov
series of possible prices during specified period of tirme. Demand shows the quantities
ious possible prices. other things equal. | *‘;43‘.
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iaw of Demand

Other thing equal, as price falls, the i i ;
el ity oo , the quantity demanded rises, and as price rises, the g an

Pt = Q4| Pl =Qaf

. o o .. . F . E - ! . Z !
Jhe‘e sa 'ZEgan Ve ¢t U’IVEI.\‘eIelatlonS lp et“’eeu P, ce an quallllty de"mn eqa.

Demand schedule or demand curve

as a down slopin
g curve such s
as D. Other things equal, consumers will b :
uy more of a product &

p
SEes.
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Quantily Demonded

The inverse relafionship between price and quantity demanded for any product can be represented
on a simple graph, in which, by corvention, we measure quaniity demanded on ihe horizonial axis
and o rice on the verical axis. In Ihe groph in Figure above we have plotied ine five price-quantiiy

P P

Agio points !istefj in he cccompanying lotle and conneciad ihe soinds Aith o smooih Sue, ‘woeied
0. Such a curve is called a demand curve. lts downward slope reflects the law of demand—people buy more of a

product, service, or resource as its price falls. The relafionship beiween price and quantity demanded is

inverse (or negative).

why the inverse relationship between price and quantity demanded?

Three explanations of these relationships

people ordinarily do buy more of a product af a low price than at a high price. Price is an obstacle

ihat deters consumers from buying. The higher that obstacle, the less of a product ihey will buy; the
iower the price obstacle, the more they will buy. B

.. In any specific time period, each buyer of a product will derive less satisfaction (or benefit, cr utility)
from each successive unit of the product consumed. The second Big Mac will yield less satisfaction
io the consumer than the first and the third still less than the second. That is, consumption is subject
to diminishing marginal ufility. And because successive units of a particular product vield less and

tional units only if the price of those unils is progressively

less marginal ufility, consumers will buy addi

reduch.

o Alprasall lpale Joz ol sl Asizall of (e (diminishing marginai utility) &yl aniiall yadls Ggild yan

)] 81 JS Lpizias sl amiioll of s ins aoBlizo gSiw B1n yinj 8,55 JW- Aaluull i &)uso oliog) a$Wgzul

PR e llgraals i) i o3l 83 bl il amiinll 2l oo J3l 098z lpiaanll Gsiia
il olS wlisgll b 2w 13| adlz|

+  We can also explain the law of demand in terms of income and substitution effects.

. The income effect indicates thot a lowet price increases the purchasing power (& 2a,3) of a
buyer's money income, enabling the buyer to purchase more of the product than before.

aaloll g dpllaall 2saSl asby o] sy oo o33 llpzasal il gl 08 Anluall oo Jis loric

s that at a lower price buyer have the incentive to substitute what is

The substitution effect suggest i
for similar products that are now relatively more expensive.

now a less expensive product

A g0 gl el 35 el i ol sl aig) sl gl o sl B 8 %2 b Ji lois

- alal gluall (sle bl olagi 5 dalud

B g e e L\Q : 2|Pase

56
p“""’——
Price per Qeantity Bemanded 8
Bushel per'Week £ 5\
— | 5 — e \_
P 3
4 20
3 e $
2 55
1 80 .
: D
omzn:oqosow'msoq'
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e of chicken will increase the purchasing POWer of congy,

en (ihe income
r pork,
e O

decline in the price
For example, a more chick

i eople to buy 3 .
_ig?nbm\?ppnn; consumers tend 10 substitute it fo

& substitutiop,

|amb, beef, and fi§r} (th
Ume d W 0

Mulfiple Choices:

the total quantity of a good o service f

A. are wiling fo purchase.
B. are able fo purchase.

d : hat customers:
1. Demandis

C. bre wiling and able fo purchase.]
D. need.

e law of demand states that, other things remain
smaller is ihe demand for the good. .. . ... .
srnaiter is the quantity of the good demanced
[aFg-gg_l'ié_ih_e quantity of the good demanded.
Larger is the demand for the good.

AR
b |

ing the same. ihe higher ihe price of o o
=200, bl
o

OO

The law of demand states that the quantity of a good cdlemanded varies
A. Inversely with its price] :

B. Directly with population.

C. Directly with income.

D. Inversely with the price of substitute goods.

w

4. Each poini on the demand curve reflects
A. [The highest price consumers are willing and able fo pay for that particuiar unit o
B. The highest price sellers will accept for all units they are producing. &
C. The lowest-cost technology available fo produce a good.
D. Allthe wants of a given household.

f a goog]

Individual Demand «ss,a)l bl

Is the quantity demand by single buyer at each price level

bl G119 (Wl 0 Byanl Jto 8SWpz sl 8359 gl 151y ellpzan ) a5lgll 5,8l cSqn |
S b e ot e et o
. : 2 2 53,4l

' Anb bl o

Market Demand (3e.ul Llb - 4

Thg mcrkef~demcnd is the summation 1
various possible prices. The market derna
rves of all the consumers in the market

he quantities demanded by all consumers at eqch of fhe
individual demand|

nd curve is the horizonial summation of the

g\swlwubmawubui ;

Rt bl 8 3,580 533U Jolgoll 513531 g Bl ll sin sy Sgll 8

effect). At a lower price. chicken is rejqp InQ%@s ‘
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Example

| Suppose: that there are three bu in m
hat th yers i
sup : in the market of Corn. At each price level, the quantiiy

Price per Quantity Demand
ed Mart
Bushel Magjed | Yousef | Sama 5 Lo
%45 ;g 12 8 10+12+8=30
! 2 - 23 17 .| 20+23+17=460
2 = 39 26 35+ 39 +26 =100
] 25 60 39 55+ 60+39=154
87 54 80 + 87 + 54 = 221
e 3 : :
’ v 1 Uy ¢
S5 Tl ;
alel X 53 ' : = e i
g g e b % = i
i . 02 Ny | ‘
0 35 R ] 39 £ 25 8 % m"“ ¢

{=35+% 33 +28)
1

Example

cor a market of 200 corn buyers, each with a demand as shown in the table below. What is the markei

demand curve?

Price per Quaniity Market Demand
Bushel Demanded | (Qd * # of buyers)
per Week
$5 10 10 * 200 = 2,000
4 20 20 * 200 = 4,000
3 35 35*200 = 7,000
2 55 55*200=11,000 |
1 80 | 807200=16000 |

el e
Jwlerynee. i,

e in Quantity Demanded aolholl aoS)l (88 psill
n a fixed demand schedule or demand curve.

P

Chang

ment from one point to another point o

oYl wuss @ aglball auaSl 9 sl
losic aglonll 2SIl (53 suus SI3
in the price  $5

Isa move

ol @b oo J

cause by increase Cf decrease

Change in quantity demand is

of the product. l

For example, a decline in the price of com from $5 fo $4 will increase ithe %4
8 bushels. Movement from point X

quantity of com demanded from 7 fo : |
to point Y on the demand curve represents a change in quantity

demanded (increase in quantity demanded).

R
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" Increase 11 i . ;
5(. quantity demarfd Y. " ’
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g : 3 5 -
Quantity
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sy
le or, graphically, shift in the demand curv
t each possible price, then demand increase. |
d curve fo the right, say. from Do to Ds. . nCa"erL

e is called a change in demand

4 change in the demand schedu

. If ihe consumer desires fo buy more unifs a
in demand is shown as a shift of the deman
. A decrease in demand occurs when consumers buy fewer units at each i
i 3 . possible pri
in demond is shown as a shift of the demand curve fo the lefiward, say, from Dlo to gT!Ce. Decreme
) g
P
sé g
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5 %
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Multiple Choices:

_‘_'_’A,‘bg:be'ézé) raises_ihe price of haircuts and finds that the volume of business declines. This

 adecrease in demand
. anincredse in demand
¢. b decrease in quantify demanded|
p. anincrease in quantity demanded

9. The quantity of a good demanded fends fo increase as its price falls because:
A. aflower prices, suppliers are willing to supply a greater quanti to the market
B. E decrease in price leads consumers to substifute towor@@@
c. adecrease in price shifts the demand curve to the right
D. adecrease in price shiffs the demand curve fo the left

L]

in last week. In this week, it is able

5 fhe consumer wgs able fo buy 13 cons of cola ot o price of $1
nsumer has experienced afn}:

Iy 14 of five same cans of cole at @ price of $1. tvidenily, the CO
£. incresse in Sermnang,

g. increasein supply

. decreasein demand

D. increasein quaniity demanded

n the United Siates has increased at a rapid rafe.

4. The number of personal compuiers sold annually i
e fo the lower price is called

The price of personal computers has fallen. The rise in sales d
A. [Anincrease in guanti demanded

3. Adecreasein quantity demanded.

C. Anincreasein quantity supplied.

D. Anincreasein demand.

Deterrninants of demand Idemand shifters)

s Consumer's Tastes (preferences) gz sl 383

makes the product more desirable; means

A faverchie change in consumer tosies for a product
nd will increase (shifi fo the right].

nat more of it will be demanded at each price. Dema
An unfavorable change in consumer fastes fora product will decrease demand (shift fo the left).
lgrsall Upally o3 SlpaSll 1213 0 08 Tioo sl llpz sl 3o el e
Alpiauoll J3 LeISs “aalol Al o lpalby il obasl ol; lals 1o Gsbuy gy dlpiuell
Lpio lpslby sl SlaSll

>|}LoJS§.&.gm&szw
8 LS Lo sk @l

» Number of Buyers aalal) uSlgiumell 520

An increase in the number of buyers in a market is lixely to increase product demand = shift

demand curve fo the right

A decrease in the number of buyers in a market will lead fo decrease demand = shiff demand

curve to the left

s
i I
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Muitiple choices:

1

A\

taHNormet s\,sC:'s_(_,s:‘,;{:,sei:iol'—gﬂnds}
Goods whose demand varies directily with money income aré called normal gpods or "SUpaiey
goods".
urve to the right.

hift demand €

ft demand curve to the lefi.

s demandi = 3

Income >
demand } = shi

incomel =
Examples for normal goods: Steak: Furniture; Clothing: car

L
(b) Inferior goods azs)ll aglaall
Soads whose demond sarias inversely with money incore ore colled infefdcr goods.
& kil dernaind CuitvE 1, the lefi.
shiit demand curve to the right.

e | M
demand |

demandt =

d Fumniture, Used Clothing

Incomel <

Excmples for normal goods: Use

If a good is inferior and income decreases then

A, he demand curve wiill shift to the righ
B. The supply curve will shift fo the right
C. The demand curve will shift fo the iefi
D. The supply curve will shift io the left

Gasoline is a normal good. When consumer income increases. there will be

A. a rightward shift in gasoline supply curve
8. A leftward shiff in gasoline supply cunve
C. {5 rightward shift in gasoline demand cur\/el

D. A lefiward shift in gasoline demand curve

~d incomes decline

If used cars are inferior goods ar
4. soles of new cars remain unchanged

lal)
B. sales of used cars decline
C. sales of new cars incredse

D. Eales of used cars increase

Prices of Related Goods

(a) Substitutes good (akal eLji) 1 Is one that can be used in place of another good.

gl s 55Ul o Vs Ll sty of dlprasall olSals 018 15] cprzliy uraleadl o

Examples: Coca-Cola and Pepsi; Colgate foothpaste and Crest: Nike and Reeboks; Chevrolets an

Fords
the other.

W hon 1 7 7] 7
Then-twa products are substitutes, an increase it the price of one will increase the demand for

24, |
TR
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For example, an increase in the price of Coca-Cola, consumers will buy less of it and increase their
demand for Pepsi. = Shift demand curve for Pepsi fo ihe right.

(b] Complemenis g ~ B i goodz
Lopae) OlilaSo Logily Olisbuddl 8,55

asiio wsdo dllpzeall Joasy (sims Akl Izl (JoVl SMpzwl 0,31 15]
] Tz cuzeloll dlpswy w5 &sma

Examples: Car and Gasofine; Computers and Software; Camera and film; Cell phone and Cellular

service
When two products are complements, an increase in the price of one will decrease the demand for the other.

For example, a decline in the price of cars, consumers will buy more of it and increase the
demand for gasoline = shift demand curve for gasoline to the right

oy thrreinied good (s el 2l
Goods are not related fo one another is called unrelated or independent.

Examples: Butter and Goilf balls; Potatoes and Automobiles; Bonanas and Camera

If a change in the price of one has no effect on the demand for the other, then the two gecod

are unrelated

Muittiple cheices:

1. If the price of a complement decreases, all else equal,

A. Quantity demanded will decrease.
B. Demand will increase

C. Demand will decrease.

D. Supply will increase.

If the price of crange juice rises, the demand for grapefruit juice will
A. increase because ihe two goods are substitutes

3. increase because it is a complement ,
€ fdecreose because the two goods are substitutes)

D. decrease because the two goods are complements

Assume chickens are normal goods and chickens and meat are substitutes, which of the following

will cause the demand curve for chickens fo shift to the left.
A. increase in consumers' incomes

B. decrease in the price of chickens

C. increase in the price of meat

D. decrease in the price of meai|

Which of the following evenis would increase a sfudent's demand for Falafel?

A. anincrease in the price of Falafel
a decrease in the price of Hamburgers (Falafel and Hamburgers are substifutes)

B.
C. b decrease in the price of Coca-Cola (Falafel and Coca-Cola are complements)|
D. Anincrease in student monthly allowance (¢4 Jiyas) that the student receives from his family

Felafelis-aninferor good).

| TS

S

07 = e
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Mr 3: M
i by: \
5. Arightward shift in the demand curve fqr product C might be caused by:
if C is an inferior good.
e ;

A. Anincrease in income i
~— - AOHA
8. Adecreasein income-Cis e ReRRErE— ’ \

C. Adecreaseinine Srice of d Pr ;
D. [A decrease in the nrice of @ oroduct that is complementd to C.

in order o anficipated [
may cause consumers 10 buy now in or b
mand ( shift current dernand to the right) N

pectation of higher future prices of

» Consumer Expectations

future prices

expectation of higher
g current de

price rises = increasin

For example, inclement weather [esess)l pushll) creates an €X
Tomato, this lead fo increasing today’s demand far Tomato.

i uysis sApaCh e pice of o good 0 e jine fuiurs 102 resuil is

A. an increase in supply today
B. r<E<—:<:recse in quanti demanded today
C. cnincrease in demand ?od&‘

D. anincrease in quaniity demanded tocay

dramatically.
for cars will decredse.
will decrease.

2. if the price of gasoline rises

A. The quantity demanded
8. The demand for commuter irain rides

c. The demand for cars will decrease
D. The guantity of commuter frain rides demanded will incredse.

3. Which of the following will increase the demand for large automobiles?

A fall in the price of smail cutomobiles.

IA decregse in insurance rates for large qutomobiles )

A fall in the price of large automobiles.

A decrease in buyers' inCOmes (assuming large automobiles fo be a normal good).

o0 W >

Supply

Is a schedule or curve showing the v
make available for sale at each price level.

obﬁpﬂlﬂﬁ&obwwlabﬁswbb@wl@xwwisﬂ

arious amounts of @ product that producers ore willing and obij

Lasldl ol gl

Law of Supply

Other thing equal: s price rises, the quan

Ils.

ity supplied rises; as price fall, the quantity supplied fo

Pt = Qst

P] = Qs
and-quantity supplied.

There is a positive relationship DeTWee price-af

\q
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The supply CUNVE

””.—'H 10 .
. Individual supply CUVE syttt

The supply curve for an individual producer graphs as an up sloping curve. Other thing equdl,
producers will offer more of a product for sale as iis price ises and less of the product for sale as it price

falls.

Jpls_w." slsy 2o ,asluwll 03 2wy oexaiall Did_ﬁ oo o ighugna.bg)nojl a8l our BV s pazein) | s -3t
Azt s,V

Price per Quantity
Bushel supplied per
week
60
i 50 |

ol oy B ]

e

°

&
)]
I

o |

"

\_

.
i
|

—y
Pucu (por bushoel)

T

:a»,m‘-wnsovccz
| Quantity Supplicd{busbels perweek)

Market SUDDY Souull (5,2

The market supply is the surnmation the quantities supplied by all consumers at each of the various

possible prices.

opur 8Mall Bguall (28 G2 ol geozr e Jiod gl o255 Lol ozzinll ol ye Jiar 3,8l uosell ol B,S3
a0

s Bpgall 5,51 Jalssll uobi3l eo aalall o smwy Jsoull 9 o iall genzx Ji3 oo Lo Bsl o0 azgyasll &
: anb uosl

Example

For a market of 200 com sallers, each with @ quantity supply as shown in the table below. What is the

market supply schedule?

Quantiiy Market supply

supplied | {Qs « 4 of producers)

Price per

per Week
| 60 | %0 * 200 = 12,000
[ 50 . 50 * 200 = 10,000
35 35 * 200 = 7,000

[35%200=700 .. —
20 20 * 200 = 4,000
5 5* 200 = 1,000

Change in Quaniity Supplied ang,enll 2ol o8 perll

Is @ movement from cne point to another point on d fixed supply
schedule or supply curve.

Pdce (parbusiwel)

Change in quantity supply is cause by a change in the price of the product.

LY
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se in he price of ¢
ent from poirnt AtoBonthe

ormn from $3 o $4, increase the quantity of com supplieqy 0

For example, an increa fixed supply curve.

35,000 to 50,000. Movern

Change in Supp! ;
6
A change in one of more of the determinanis of supply causes @

change in supply.

“w

'S

An increase in supply is shown as @ righltwcrd shift of the supply

curve as from S1 to S2.

Prico (porbushal)
w

y curve

~

#increase’in supply

2 decrease in supply is shown as G leffward shift of the suppl

as from S1 o S3.

-

o

n M 32 16 3 £n
Guanuly Supphed {DUINRIT Per eyl

Determinanis of Supply {Suppi/ Shifieis] .

1. Resource Prices a=wYl s,lgall Sl
st, this leads o decrease the profit. Reduction

raise production co
duct price = shift supply cu

five for firms fo supply output af each pro

~

- Higher resource prices
profits reduces the incen
to the left (upward).

Lower resource prices reduce production cost and increase the profit. Raises profits raise th
incentive for firms to supply output at each product price = shift supply curve fo the right.

Example

A decrease in ihe price of microchips increases the supply of computers. H

An increase in the price of textile, decrease the supply of furniture.

2. Technology
enable firms to produce units of output with fewer resources = redue

Improvement in fechnology
he supply (shiff supply curve fo the right)

production cost = increase
For example, the developmeni of more effective wireless technology increases the supply of c%

phones.

3. Taxes and Subsidies . wsSxdl pcally (bl

An increase in sale or property taxes will increase production cost and reduce supply (shift supply

curve fo the left)
. angy2all OluSIl Judai By gyl IS5 sb; (] Sy aeldl sle ilys angSsdl ya)8 ol

If the government subsidi i . :
S sidizes the production of a good, it in effect lowers the production costs cnd-»

AL
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| exomples—

88 #S asS 2t (sl Byl sl plo¥l iS5 alissl oIl 535 A ol 3l ial A0 angSxll :SDIJ:LESI

_ anincrease in the excise tax cigarettes reduces the supply of cigarettes.

. Adecline in subsidies o state universities reduce the supply of higher education
palsll sl oyl pplasal Il s3b: lmall) pasoll oasSodl ool ool

_ prices of Other Goods z¥l (3 @bl glel ool

P itlly padlls AVl slgall iy Lag> 15l oSy 0lials Lopl oYl 53 olibal olibull 3,59
ol 013 susll soous 313 1513 LpSlzny onill slgall s plasicasly Lagio ol gwss ol eol3-ll ol of o> gVl

it padll o angeall Slesll ol ol il Wl osle 2Alss sl acl; g2 @i
e their plant and

firms thot produce a pariicutar product say. soccer balls, can comehmes U
caczer balls and

equipment i0 sroduce aiternalive goods, 30V, Lasketball and wellaybolls Sinc2

pasketballs are substitutes in production.

Thé higher prices of these “other goods" may entice soccer ball producers fo switch production to
those other goods in order 1o increase profits. This subsfitution in producfion resulls in a decline in the

supply of soccer balls.

Example: An increase in the price of cucumbers decrease the supply of watermelons.
gubdl oo azgymall SleaSH ol ol gl ol ol Al Ll sl g0 @hriam Eolsadt Ol Ll jaa SI33l 3|

AL

5. Producer Expectations about the future price

higher wheat price in the fuiure might withhold (w22} some of their current

£armers aniicipating a
hereby (¢lix) causes a decrease in the current supply of wheot.

wheat harvest from the market, t

6. Number of Sellers Ggatll 8 actll sre

Other things equal, the larger the number of suppliers. the greater the market supply. As more firms

enter an industry, the supply curve shifts fo the right.

Multiple choices:

1. Ifan excise taxis imposed on @ good or service,
A. fihe supply curve shifts U pward
B. the supply curve shifts downward
C. the price paid by consumers decreases
D. the quaniity produced and sold increases

2. Supply curves do noft shift if there is a change inthe
A. Number of sellers of the good.

8. Technology used fo produce the good.
c. Price of the good,

dia mencdnce the ﬁOOd.

B, Price of fesources usecHo et

L2

TZ{FapF




ilibrium _Gple s

e ¢ w ‘ ’ -..._- -
i s to the ¢ %
3. All of the following shift the supp! o;wa’rche : ’
A. bnincrease in the ice of watche e
fo {
pe n the future Y

B. an advance in ine oy
C. adecrease in the wage O it
D. manufactures’ expectation of lower watch P : :

her prices in the near future®?

NSO

re expecﬁng hig

4. -What will happen in the rice market if sellers @
A. The demand forrice will increase.
_ B. The demand forrice will decredse-
C. The su for rice will decredse: ;
D. The supply of rice will increase
flour. If the price of wheat increases. all else equal, we

5. Wheat is the main input in the producﬂon of
would expect

A. The supply of flour fo be unaffected-
B. The supply of flour 1o decrecse.

C. The supply of ilour io increqase.

D. The demand for fiowl tc decrscis.

6. ligood Y is asubstitute in production for X then an increase in the price of Y will:
A. Cause an increase in the supply for X.

B. Cause a decrease in the demand for X.

C. Cause anincregse in ihe supply for Y

D. Cause a decrease in the demand forY.

Which one of the followin would cause the supp! of banangas {0 increase?
A. A technological advance which lowers the cost of banand producﬁon_l
B. A decrease inihe number of producers of banandads.
C. Anincreaseinthe price of a fertilizer used in growing banands.
D. A severe rain shorfage [which causes banana trees fo die off).

~

Example

What effect will each of the following h
he methods of producing tires.

ave on the supply of aulo tires?

a. A techriological advanceint

dvance in ihe methods of pro
duction cost = increas

nable firms 1o produce tires with fewe

ducing tires €
o ihe

A technological a
resources = reduce pro e the supply of aulo tires (shift supply curve ;

right)
b. A declinein the number of firms in the fi
s in the tire industry, the less the market supply of auto tires. Shift

re industry.
ihe

The smaller the number of fim
supply curve of auto tires to the left.

c. Anincrease in the prices of rubber (+2) used in the production of fires

Higher prices of rubber raise production cost, this lead
i ] s to decrease . . 2
tive for firms fo supply auto tires at each price = sh(iah‘ i;i glr;)ii’fu Y\R/ZC:U?;IO? lfr; profi
o the lefr.

reduces the incen
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d. The expectation that the equilibrium price of auto fires will be lower in the future than curenily.

The expectalion ! ui9 ires will be lower in the future induce firms of tires
5 expand produc on ; i & Toihenght

e. Adecineid the price of the large fires used for semi trucks and earth-hauling rigs {with no change in
the price of auto fires).

Auto .ﬁ.r es and large fies:aro SUbstiiute§ in production. A decline in the price of the large fires leads
large fires PrOdUCE® 1o switch production fo auto fires in order fo increase profits. = Increase supply
of auto tires = shift supply curve of auto tires to the right.

i, The levying of a per-unit fax on each auto fire sold.

(]

A per-unif fax on each auto fire sold will increase production cost and reduce supply (shift supply
curva 0 the left)

~. inhe grariing Ct O 50-cent-per-unil subsidy for 2och Lo e DU Ed.

A per-.unit Sl_Jbsidy for each auio fire produced will decrease production cost and raises supply of
aquto fire (shift supply curve to the righi).

Market Equilibrium _Besul osls Wl

Equilibrium Price and Quantity ‘
Sup

The equilibrium price (market clearing price) is fhe price where guantity

demanded equals quantity supplied.
-------------------- S Equilibriu

At equilibrium price: Ou=0s

Graphically, the equilibrium price is indicated by the intersection (&%) of
the supply curve and the demand curve.

Guentity

- At equilibrium price, there is neither a shorfage nor a surplus.

. WhenQd>Qs — shortage ( excess dermnand) : Excess Demand = 04- Os

. WhenQs>Qd — surplus (excess supply) : Excess Supply = Os— o

-. The surpluses caused by above equilibrium price
oo 55| dog mall @St ol sl Bl 8 aslusll 02 L Al e sy 23 OB osleall s o wolel jmult 08 Nl
auglhall 3051
- The shortage caused by below equilibrium price
aunSl o 51 2uglinal! aoSl of sl Fgudl 2 aalsll oy ol AlSte capas A5 ol oslgall y2as 0o Jal ymdl S 15
. az 1
Al A o

A
5 P




questions
/
[—_Pﬁc?p’ef/' Totdl ngnhfy
Bushel Supphed

® z /

1. Complete the table
/_.'.- e
Guaniity !

1~

} T0i3
1

i Piice per

5 What is the equilibrium price? what is the

The equilibrium price equals $3, when Qd

The equilibrium qua

3. At market price of $4. calculate the ex
Excess Supply = Qs — Qd= 10,000 — 4,000 =
Example

Based on the following table whic
demand schedule for one seller of meat

demand s

Total quanity
DemOn

quantity?

equilibrium

=Q

niity equal 7000 bushels of corn.

cess supply

6,000

h represents the supply and

a. Suppose that there are 100 sellers and 100 buyers of meat in
this market. What is the equiliorium price and quantity of

meat in this market?

Market demand = number of buyers * Quantity demanded for one buyer

Market supply = number of sellers * Quantity supplied for one

seller.

At equilibrium price: Qd = Qs : equilibrium price = $2¢4

equilibrivm quantity = 32.000

T B

-
sl SUrplUS(*} or

chedule answer the follow;
ing

s and
which ré resents the suppPlY ‘
. [ he offect rnl g
- SUprUS(+) or R
price

shon‘GQeH

s
§ Tle~ —~ff K3
! The efiecion

1
1

! Shortogel! o PReR
Decrease
Decrease
no eifect
Increase
Increase
Price Quantity Quantity
demanded | supplied
$20 395 200
$22 375 250
. $24 350 | 290
$26 320 | 30
$28 280 | 345
Price Market Market
demand | suppl
$20 39,500 | 20000
$22 37,500 25,000
$24 35,000 29,000
$26 32,000 32,000
$28 28,000 | 34500~

ey
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Fconl3l: Prin

B s L

Tgi.When governmeni sets the price of a meat at $28, will there be a shortage or surplus? BY what

amount?
= =734500. Qd=28000 = Qs>Qd-=-surplus-ofthe-me
At $28 of price Qs = 34,500 =78; eat by ihe omount of

6,500 units { 34,500 — 28,000

Example i
Consider the following market demand and supply curves for g5y :
Cheese. Quantities aré in tons and prices in doliars. a 50 -~
45 :
a. Whatisthe equilibrium price and quantity of Cheese in 40
this market? 354t 1
30 %
The eauilibrium price is indicated by the intersection of =5 b el
the supply cur/e and the demand curve. i -0 i R . Sl Ll
o ! i o | i Wy
RIS e ! s o T P P iR osigae et o
Equilibrium price: $35 10 N
5
0

Equilibrivm guaniity: 250 tons
0 100 200 300 400 500 6OC

_ Quantity

b. Suppose ihe government purchased 300 fons of cheese at each price level (demcnd increcsev by
300 tons). what is the equilibrium price and quantity after this purchase? i

Demand increase by 300 tons, means that the at each price quantify demand increase by 300 tons

60 :
I : \i\ ‘ !
Pice | Qu Od'(newdemand) | Qs & 50— - Sie ra
25 350 350 + 300 = 650 50 45 T o
| 30 | 300 [ 300+300=600 | 150 40 -
35 | 250 | 250+300=550 | 250 35 =
40 200 200 + 300 = 500 350 30 < -
45 150 150 + 300 = 450 450 25 N el
50 100 100 + 300 = 400 550 20 <
e G 15
16 N
Equilibrium price: $45 5 l
0
Equilibrium quantity: 450 tons 0 100 200 300 400 SO0 600

Quantity

25




Lz oo 2Q" ond sUDDl
¥ by

equahon =
and P is price-
qugnﬁ’fy fora coO

1. Whatisthe equilibrium price and

At equilibrium: Qs=Q

2+020=10-022 5

p=10-020 — p=10-0.2(20) ~10-4=3%6
5 atp=35isthered shoriage of surb: 1us2 By oW ruch the surplus of shortage?
ajP =5
o 10-5

10-P
® = 5, = e -
’ . AtP=3% Qa FE 25

pemand equation: p=10-020s — 04= "4

__Pi ;A{'P=$5, QS= sy

Supply equcmon p=2+020 — Os=

AtP=$5:Qd> Qs — shortage

—

—

————

By the amount equal 251 5 =10 units
Example: Edge Quantity | Quant
, Demanded | Supple
1. The lable above describes the market for VCRs. $2](?00 1000 200
800 0
a. Plot the demand and supply schedules. What is the 300 600 6;00
equilibrium price? The equilibrium quantity? 400 400 800
.N.q:kol for VCRs 500 200 1030
okl MR WS W oM

R

©)

ico

D°1400° . 603 309 1000+~ QuEnGity of VCRs =

Equmbrlum price = $300
ity = 600 VCRs
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plied? Will price

he price of $200, what is the quantity demanded? What is the quantity sUp

p. Att
tend tO increase?

~H —92n0
s 3\1\) ",PPt

plied = 400 VCRs

—

Quantity sup.

Yes, thereisa shortage and price will increase
ed2 Wil price

nded? Whatis the quantity suppli

¢. Atthe price of $400, what is the quantity dema
tend to decrease?

Quantity demanded = 400 VCRs
- Quanfity supplied = 800 VCRs

Yes, there is a surplus and price will decline.

price Quantiity
| Demaonded |

vt mnd SORSUMETS nrefer

S represented inine

ter Aced into this o7

d schedule ior VCKs i

A A mevs DrTi =~ DD e in
| A ngvs DiTA ¢4 BRI

it fo VCRs. The new deman

following table.
rection of the shift in

a. Plot the new demand schedule. What is the di
the demand curve?

“Hews™ Madket for VOR2

son  20d 1699 Quantily of VCRS

The demand curve shifts to the left

b. Whatis the new equilibrium price and quantity?

Equilibrium price = $250
Equilibrium guantity = 500 VCRs

s supply af the old equilibrium price?

c. s there an excess demand or exces

There is an excess supply af the old equilibrium price.

[
cp
Y

5y
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Application: Government Set Prices 'IMUW i
) o o LoVl 93 @asS=2l s 35 20 f}

g P 5 o g5

et 8 (5,000 ' L
[P o o5 sxdbogtiE S-p ot o & " s '_- a5 L e .“ i
g R T ot O agled of sell £ o ool Sl
g "”% i

Gl 5 Lot g AT B
)L;ugp)&sugszjl,_}?u,\.ﬂ 2 - P ol

O = Princinles of MIC economicé'

2 %5 3 - Q

St =

Price Ceilings: «se.l il
or d roduct or servi % |
chargé f p! ices. A price - i
1

A price ceiling sefs the maximurm legal price 9 seller MY
below the ceiling is legal: @ price above it is NOt- ‘
H T3 e . 1
A b i Lol iR &wolaw_g\:_b_w‘s\hlwg "f_
GS“MMW|6W5EM0|05-M¢U"S'EZ sz 9.5934\19w&c|lnl.u_5,mdlw"g 'IW:JIJ:W l”:‘
Cprs .«‘-‘i;;-g:;t_af‘éﬂz".f@'-e's.- = = i1

o when N2 ceiing pricé i below the saut {
...qdlhbﬁur '

A price ceiiing is o maximum iegai Y e i chown bv the horiz
orica. a parsistent croguct choriog caclts, HETE kot shertags Aple v the horizontal digny,
sient Giou AR - _nce

between Qg and Qs

I = : 5] az & 1 06S5 S R el

sl el ol A5 Sy 93 575 29 ] g Lom plinall 3525 on ol agysall 20 O Somus M b

g5 Ol RogSxll oSars Tl 0 B il pall AlS e le A3 o5 s &ng'qlfaM&asbab 95-;”31[

smeell ) Balaall oo 25| 205 gﬂ%@lpsﬁoi@wﬂ‘@ww'“‘f@ S oo el culluf gy,

B sopb sl Symsw BE bb}éo_caiul;»avﬂbyzs@ééwdj”“‘”s”"”""’J”"‘-S’““‘J'M‘o»»hl|
«slyg,

Graphical Analysis [price Ceilings N Gosoline) :
B
P . |/

g world income boosts the purch_ose
the demand for gasoline 1o the right

rarket price reaches $3.5 per gallon.

The rapidly fising price of gasoline £ p,

S

e

—

suppose that rapidly risin
of automobiles and shifts
so that the equilibrium OF

=

shown as Po in Figure.
greaily purdens low- and moderate-income households, ~ .
i “ s »Ceiling
which pressure govemment to “do something.” To keep 83 P :
ase households, the government / 3
Shortige

gaoscline affordable for th
imposes a ceiling price Fe of $3 per gation. To impact the
market, a price ceiling must be below ihe equilibrium price. A
ceiling price of $4. for example, would have had no

Y e & Q&

immediate effect on the gasoline markef.

= . e SN

[

of ihis.$3 cejling price?¢ The rafioning ability of fhe free market is rendered
the ceiling price Pc is below the markei-clearing price Po. there is @ lasting | ¢
he quantity of gasaline demaonded at Pc is Qd and the quantity supplied is ony

demand or shortage of amount Qg — Qs OCCUIS.

what are the effects
ineffective. Because

shortage of gasoline. T
Qs; a persistent excess

Price Floors: 2 sall Bt VI

price fixed by the government. A price at orab

ey

ove the price flooris legal:

P

A price floor is a minimum
price pelow it is not.

ool o Bole (255 lgits Jlsmall 133 (8 BogSadl J55 Loxiss e o J”"N]ﬁi
a i 'U‘;--“““’J = > - [oh [
IO\L\»‘U.U)

o aal_awl
. el @ osynis el Ol oy (sigB s sl gy Az AP
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Graphical And! sis (price Floor on Wheat
memnﬂn legal price such as Pf. When the price

Jiorium_price. o persistent product sorptos

results. Here that surplus is shown by the horizontal distance <5 o Floor
"

between Qs and Qa.

suppose ihe equiibrium price for wheat is $2 per bushel and,
pecause of that low price, many farmers have extremely low
incomes. The govemment decides to help out by establishing a
legal price floor of price support of $3 per bushel. What will be the
effects? At any price above the equilibrium price, quantity
supplied wil exceed guantity demanded—that is, there will be a
persistent excess supply or surplus of the product. Farmers will be

willing to produce and offer for sale more than private buyers are willing fo purch

[ =¥ g
Syomole

SRl s

Consider the following market demand and supply curves for Cheese. Quantities are in tons and prices

in dollars.

suppose that government imposed a price floor of $8, would there be
a shorfage or a surplus at this price? Why?2 How much is the size of this

shorfage or surplus?
surplus because Qs> Qd :

Surplus = Qs = Qd =30 - 10=201ons

Multiple choices:

1. When a price celling is imposed in @ market,
A. ki persistent shortage results|
B. apersistent surplus resulis )
C. sellers of the product are made better off
D. quantity supplied is greater than ihe quantity demanded

2. When a price floor is imposed, it has an impactonad market if it is sef

A. below the equilibrium price
B. above the e ilibrium pri

C. above the e uilibrium pric
D. below the equilibrium price because qu

demanded exceeds
supplied exceeds uanti
anfity demanded exceeds quantity supplied

3. Aprice celling e

A. Isalegal maximum on the price af which a good can be soldl

B. Isa legal minirnum on ihe price at which a good can be sold.

C. Occurs when the price in the market is temporarily above equilibrium.

D. Wil usually resuliin @ market surplus.

P % /5
& L4 lus. i
\Surplus
/
2 Py
\ o
0 %% & Q
ase at the price floor.
$147 ] =]
12 B —
10 . S| 1
8 BS
o6
4 ZL
2
emand
0 {0 20 30 40 50 60
Quantity
lied
20 lI Pace

7
Ui



Increase in Dem’énd
The increase’in demcn
equilibrium quantzg’ ®t ; Of
Decrease in Demand

The decrease in demand from D3 toD

equilibrium quantlty @l 0V

« Changesin Suéglx
Increase in Supply

The increase in supply from S1 fo §2,
the equilibrium quantity (PL ; Q1)

Decrease in Supply

The decrease in supply from S3 fo S4, increase the equilibrium price and,

decrease the equilibrium quantity (P{ ; Ol )

o Supply Increcse; Demand Decrease

Increase insupply = Qf
Decrease in demand = Q|
Net effect: Q: uncertain (a3 gkidy)

| S

d from D1 to D2 increas

4, decrease both eq¥

- bot’l equlhbn

zzbnumpﬂce and

i

Di

decrease the equilibrium price and, increase L

—r

N o8

D3

SL
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Eeonl3l: Principles of Microeconomics Chapter 3: Demand, Supply,

Example

| eoand-coffee are substitutes and both fea and coffee are normal goods. Explain what happen to
uantityof tea due fo the following events.

uilibrium price, equitibrivrmrauant

a Government increase sales taxes on fea. P] P
. s1
increase sales taxes o decrease supply of tea T P1 LN
: ; pOf—
The demand for fea: no change. :
DL
The price of fea: increase '
Q0 QL Q
le—

The quantity of tea: decrease :

~~ffee darreais condderably (a8 22

Tea and coffee are substitutes = Price of cofiee decrease leads to increase demand for coffee

and decrease demand for tea. P
The supply of tea: no change
The price of tea: decrease B0

The quantity of fea: decrease

c. Consumers' income decredses and, af 1He same time, the cost of producing and fransporting fea

has also decreased.

Tea is @ normal good ®Consumers’ income decreoses leads to decrease the demand fortea

The cost of producing and transporting tea has decreased. = supply 4
of tea increase S
. . ¥ 52
The price of tea: decrease - Pl S
The quantity of tea: unceriain’ l’ PO K 1
y D2
Q1 Q

..2’3;\13;\5;
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Effects of changes in boih supply and demand el “Effect on Equilibrium
Effect on Equnhbnum ;m
\WW i d | EfeC Sorre — ooty
Decreds€ W
- nceddin 8

=l

Decrease Incredse
Increase Increase Indeterrnir}afe
Uncerfall
Decrease Decrease
Supposo ead aré comple
Suppose that cheese is a normal goods, cheese and br Sl e pes o
f the following Cases: show

produce cheese. For each o
price, and equilibrium quantify of cheese.

a. Price of milk increcses. .
. :on). Increase in
Milk is used to produce cheese (resources[ of ;ﬂ"‘igr‘?ﬁéﬂgsg the profit.
_this leaas tSUT
cost, -this or firrs 10 supply outpUT at

milk prices raise production
Reduciion in profiis reduces
each product price = shiff supply cuve

—

the incentive P
to the left (decreasv).

Demand curve for cheese: No change
Equilibrium price: Increase
Equilibrium quantity: Decredse
b. National income decrease and, af the same time, the nu
F

increased.

National income decrease: cheese is a normal goods = decrease

income leads to decrease demand

vy

P2
1

Increase Decrease Incredse Increase
B e e G uncertain

R e

/”‘_—_\

Decrease

ments, and milkis used to |
demand. sUPPIY. equiibrim_ |

mber of sellers of local cheese has

\ \_ll 52

The number of sellers of local cheese has increased = increased supgly

Price: decrease
Quantity: uncertain
The govemment gives a subsidy to the producers of bread.

Subsidy to the producers of bread leads to increase the supply of bread P
= decrease the price of bread, but cheese and bread are
complements & increase the demand for cheese. .

T P2

P

Supply curve for cheese: No change

Price: increase

Quantily: increqase / i

O

s1




formation provided in fable b

What is the equilibrium pri

At a price of Pizza $3,is there be a short

In this morket there will be an excess

supposa ih2 government seic g price
it be? ’

.. Suppose ihe government giv

of pizza by 300 units at each

IS IRT e e =
SR

price ievel

Question #2:

uppose ihat an mp
snd satellife radio are subsiitutes. For eac
upply. equilibrium price, and equi
_ adecrease in the price of mp3 players
anincrease in the price of CDs

The govemmenf gives a subsidy to the
a fad thaf makes mp3 P!
& decrease in the price o

WL v wo

Question #3:
1ased on the fol
Jemand of Tea.

Firm A's
Quantity

e
“Firm B's

=
Price
Quantity

N
w

O\.b.\y\)
O~ |

(0¢]
S

i

suppose that there are only three selie
What is the equilibrium price and quan
when government sefs ihe price O
amount?

VW

ce and quantity in Pizza marke

demand of 300
sicor of §12. Wil

s subsides o the pro

W UCOII . ==
3 player is normai geeds, mp3 players and €
h of the following cases, show what happens

librium quantity of mp3 player-

ayers more PO
f satellite radio.

liowing table which represenis

i
Firm C
Quantity
Supplied Sugglied Sugglied T
54
[ 48
| 12 42
35
30

faTe

clow fo answer the quesiions that foilow:

St
Price per Qg for Q; for Pizzas
Pizza +  Pizzas )
$3 “1.200 4600
3 1,000 700 )
9 800 800
12 4600 900 :
15 400 1,000

i

age-or surplusg By how much?
pizzas at which price?
here be a shortcge of surplus? HOwW

ducers of pizza that lea
, what is the new equilibrium price and quaniiiy?

Ds are complements,
to demand.

producers of CDs
pular among 12-25 year olds

: the supply schedule for three sellers and the market

TR
s | Morket . .
demand e

| = ]
[P ]

| Y

e s =

rs of market of Tea What is the market supply schedule
tity of Teain this markete

a at §4, will there be a shoriage or surplus? By what

large il

ds to increase the supply

and mp3 players®

R pTp




